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I can say, B’sooloh is for a G’zayroh Shohvoh - IR TOTAR TN NIAON

Overview

The X3 asked how does X2°py "1 know that 7w XY WX is written! for a 77°T
mw,? and 79902 is written to exclude a 77w32 from 01p, perhaps it is the opposite;
meaning that 79102 is written for a w",* and 7wNKR XY WK excludes a 70NN 772
mwAanD from receiving 01p.* Our MpoIN questions the s'RM3 assumption.

mooin asks:
= 519Y NYOTY XD 5111999190 11991 RIRT 1Y YWPINT NN

It is astounding! the X713 should ask, ‘I can say that both 2°»05 (79102 and XY
IwIX) are written for themselves, and not for a @'t at all’ -

N1D0IN answers:
- Y APNY 1NN TNT 1Y 8P D/YUNT AN

And it appears to M5o1n that the X7 was certain that one of them (cither X7

7w or 717I102) was written for a w''ts -
- DYUNN 7DDV PIYY DIMNT MNIPNRM IININ

Since the verses are unclear regarding the payment of 2°»pw and fifty -
= 1119913 117199991 NN T>99 KDY NIDIN NION) 999 7951

Therefore (since the X713 was certain that there is a "), the X3 just asked, ‘But
I can say the opposite ("% 79102 and Iw7IR XY is 1917)°, but could not ask,
‘But I can say that both are 7195135 —

mooIn finds a similar Xna:8
= 9INRT (X0 99) 12970107 NP 799 NIOINR NI INN )

!'n3,325 (X¥n) 0127.This P05 is discussing a case of 72102 77v1 0IRA. It reads; 7R N WK AN 701 UOR RN °2
2 It states WX X? WK by a 01X and it says WK X2 by a 7non (in 1,20 [D°wOWA] NMW) we compare them to each
other and derive that in both cases the 01p is fifty o>%pw.
3 The word 7032 is written (by 017 and) by 7non (as well).
4 This would then contradict the ruling of ¥" that a 7w1an1 7OIRNIW 77¥3 receives OIp.
3 79102 excludes a 793, and AWK X excludes Awman 707XRNWw 771 (not like R2pY ™).
¢ This would be a much stronger refutation of ¥", because we could not offer the answers which the X3 gives.
7 By minon the 770 writes (in 10,20 [2°00wWn] NMAW) MIN2T M PP q03; that the payment is in (pw») 09pw,
however it does not state how many 2°9pw. Regarding a 0iXn, the 70 writes (in v3,25 [R¥N] 2°727) @m0 NN
no5, however it does not state what type of 703 (whether 2°9pw, or something else). Therefore we know that there
must be a "1 to teach us that in both cases he pays fifty o°2pw.
8 mpoIn intends to prove that it is possible that we know that there is a w"13 but we are not certain exactly which
words are utilized for the w"1. See ‘Thinking it over’.
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And there is a similar case in the first P95 of 1997710 noon, where the X723 cites
the mawn, which states -
= 9513 31 NI TNNY /Y DY 197 5’23 XON 9PYN N2 NN XD

‘And we cannot judge the false prophet only in a 7''°2 of seventy-one’; the X713

asks, from where do we derive this ruling -
= N9 P12 TN N1TH NONN NN 93 599 %34 1IN

n''2%1 answered we derive it through the "3 of 717377 777177 from a rebellious elder -
- M793 NYOP) 1095094 NI NYDDA 2903 %3 N1 XD P9

And the X713 there asked, ‘but the 71737 of a X nn Jp7 is written regarding his

death, and his death is carried out by a 7"2 of twenty-three not x"v —
= INNININN 1927 927 990 YWIPY ¥ 9N NON

Rather, says %' we derive it through the w'"1) of 927 927 from the rebellion of the
n"1. This concludes the citation of that X°210 -
= Y AT NINNRT NN 292 20 229 9199199 991D s¥a 1IN 99N 2NNV

So now, how did the X n intend to derive, this ruling and have 1''299 say that

we derive it through the w"tx of 77357 77157, when there is no'* such v -
ST NN NONNT RI2DNI 9INPY NN Y17 NN XD MY N9 RIINRT 190 D MINT NON

Rather we must say that it was known to 17""27 that there is a @'t (between X°21
7w and X7 3P7), but he did not know what it was exactly, so he assumed from
his logic that it is derived through the w"1x of ;7377 1770714

Summary
Occasionally we know that there is "3, but are not certain which words are utilized.

Thinking it over
Why is mpoin premise!® so difficult to accept that he requires a proof to support it?

% Regarding a 7pw X"21 the 7N writes (in 3,7 [2°091] 2>127) 131 X*237 <MY "I I2T2 79 WK X217 X, and regarding a
X% 17 the 77N writes (20,1 aw) N "N PNTI2 AWYY WK WK, so just as by Ran 17 he is not 70" 21 unless he
rebelled against the entire 79173 >717710 of X", as it states (7 PI0D QW) W2* IWR 2PN 2R N7 NNPY, SO too the pw X°a1
is not executed only through a X"y 5w 7"2.
10 There are two rules by a Xan 1p7; his A %7 (rebellion) must be against the 79173 *17730 of 71, however he is
judged by a 7"2 of 23. The word 177 is written regarding the punishment of the X31n 1p7 (see footnote # 9), which is
by 2" (not by his X7 [which requires X"Y ), so how can we derive that a 7pw &1 needs to be judged by a 7"°2 of
71, since a Xnn 1p7 is not judged by 71, but rather by 23!
1 By a 9pw %21 it is written (Qw) "3 927 70 WX and in the 7wAD of X7nn Jp7 it is written (> P05 oW) 1277 2"y MW
regarding the 79173 177710 of X"V,
12 mooin means if we do not accept this premise (see footnote # 8), there will be the following difficulty.
13 See the conclusion of the 873 there in 177710 that 3 8 7717 777! Why did 1""37 create a w13 out of thin air?!
14 Similarly here we know there must be a w"1a between 011 and 1n9n, we are just not sure which words to use.
15 See footnote # 8.
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